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logicname LDLOGE27A

library LDLO6E30A { OO }
library LDLOGE21A { OOD }

entity main
input RESET;
input SCLK;
input YIN[5];

output XSEL[5];
output SEGOUT([7];
output KETAOUT[8];
output ANS[32];
output EOP;

bitn term[28];
bitn change[36];
bitn datal[4];
bitn add[3];

bitr take;

bitr setseql3];
bitn changereset;
bitn set;

bitn func[3];
bitr calcseql4];
bitr calcop[3];
bitn opend;

bitr regA[32];
bitr regB[32];
bitn bin[32];
bitr execopl[3];
bitn changecomplete;
bitr answer[32];
bitr eop;

output TOP[4]; TOP=calcseq;

output T1P; T1P=set;
output T2P[3]; T2P=func;
output T3P; T3P=take;

output T4P[32]; T4P=bin;
output T5P[32]; T5P=regh;
output T6P[3]; T6P=calcop;



output T7P[3];  T7P=execop;
output T8P[32]; T8P=regB;

output T9P[3]; T9P=setseq;
output T10P[32]; T10P=answer;

ANS=answer;
EOP=eop;

bin=change.0:31;

term=LDLO6E30A (RESET,SCLK,YIN,add,take) ;

term.28=1;
XSEL=term.0:4;
SEGOUT=term.5:11;
KETAOUT=term.12:19;
data=term.20:23;
set=term.24;
func=term.25:27;

change=LDLO6E21A (changereset,data) ;

change.36=1;
add=change.32:34;
changecomplete=change.35;

if (RESET)
setseq=0;
else
switch(setseq)
case O:
if (set) setseq=1; endif
case 1:
if (take)
setseq=2;
else
setseq=setseq;
endif
case 2:
switch(calcseq)
case 2: setseq=4;
default: setseq=setseq;
endswitch
case 4:
if (set)
setseg=setseq;
else
setseq=0;
endif
endswitch
endif

if (RESET)
take=0;
else
switch(take)
case 0:

{oooooo }

{BCDO BINDOODO }

{BCDO BINDOOO }

if (changecomplete) take=1; endif

case 1:
if (set)
take=take;
else



take=0;
endif
endswitch
endif

switch(setseq)
case 1: changereset=0;
case 2: changereset=0;
default: changereset=1;
endswitch

if (RESET)
calcseq=0;
else
switch(calcseq)
case O: {o0oooooo }
if (set)
calcseq=1;
else
calcseq=calcseq;
endif

case 1: { BCDOO BINOOOO }
if (setseq.1)
calcseq=2;
else
calcseq=calcseq;
endif

case 2: {0ooooooooo }
if (set)
calcseq=calcseq;
else
calcseq=3;
endif

case 3: {O0oooo }
if (opend)
calcseq=4;
else
calcseq=calcseq;
endif

case 4: {oooo }
calcseq=5;

case 5: {00 }
calcseq=0;
endswitch
endif

if (RESET)
calcop=0;
else
if (set)
switch(func)
case 1: calcop=1;
case calcop=2;
case calcop=3;
case calcop=4;

case calcop=b;
endswitc

A A Ay A Ay
+ N ¥ ™

]

—
o e e

5o wN



else
calcop=calcop;
endif
endif

if (RESET)
execop=0;
else
switch(calcseq)
case 1:
switch(execop)
case 1: execop=calcop;
default: execop=execop;
endswitch
case 4: execop=calcop;
default: execop=execop;
endswitch
endif

if (RESET)
regB=0;
else
if (setseq.1)
regB=bin;
else
switch(calcseq)
case 4: regB=0;
default: regB=regB;
endswitch
endif
endif

if (RESET)
reghA=0;
else
switch(calcseq)
case 4:
switch(execop)
case 0: reghA=regB;
case 4: reghA=answer;
endswitch
default: regh=regh;
endswitch
endif

switch(execop)

case 0: opend=1;

case 4: opend=answer.32;
endswitch

switch(execop)
case 4: answer=regh+regB;
endswitch

if (RESET)
eop=0;
else
switch(calcseq)
case 4:
switch(execop)
case 0: eop=0;
default: eop=1;
endswitch

{ooooooo }



endswitch
endif

ende

entity sim

output RESET;
output SCLK;
output YIN[5];
output XSEL[5];
output SEGOUT[7];
output KETAOUT[8];
output ANS[32];
output EOP;

bitr tc[12];
part main(RESET,SCLK,YIN,XSEL,SEGOUT,KETAQUT,ANS,EQP)
tc=tc+1;

if (tc<5) RESET=1; endif

SCLK=tc.4;

switch(tc)
case 145: YIN.3=1; { 1 OO0 }
case 146: YIN.3=1;
case 273: YIN.3=1; { 2 00O }
case 274: YIN.3=1;
case 401: YIN.3=1; { 3 00O }
case 402: YIN.3=1;
case 465: YIN.2=1; { 4 OO0 }
case 466: YIN.2=1;
case 593: YIN.2=1; { 5 000 }
case 594: YIN.2=1;
case 721: YIN.2=1; { 6 OO0 }
case 722: YIN.2=1;
case 785: YIN.1=1; { 7 0OO }
case 786: YIN.1=1;
case 913: YIN. {8 00D }

1
case 914: YIN.1

case 1169: YIN.3=1; { + OO0 }
case 1170: YIN.3=1

case 1393: YIN.4=1; { CLR OO0 }
case 1394: YIN.4=1;

case 1521: YIN.1=1; { 9 OOO }
case 1522: YIN.1=1;

case 1585: YIN.4=1; { 0o OOO }
case 1586: VYIN.4=1;

case 1745: YIN.3=1; { 1 00O0O }
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1746:

1873:
1874:

2001:
2002:

2065:
2066:

2193:
2194:

2321:
2322:

2481:
2482:

2545:
2546:

2609:
2610:

endswitch

ende

endlogic

YIN.

YIN.
YIN.

YIN.
YIN.

YIN.
YIN.

YIN.
YIN.

YIN.
YIN.

YIN.
YIN.

YIN.
YIN.

YIN.
YIN.

ooo

[EENRN

ooo

oo

ggo

oo

ggo

goo



CLK

o1 00

AYAVAVAVAVAVAVAVAVAVAVAVAVIVAV.

EOPO

| [\

ANS

‘ 102469141

KETAOUT

P xo s

SEGOUT

| &

XSEL

YIN
SCLKO
RESETO
calcseq

set

func

take

regA

102469134 X102469141

regB

o

<

answer

102469141

calcop

4

execop

IS

bin
setseq

2639 - 2653

0

4 XO

0-18 DEC




